SDC-450N

Calculator 8 digits

Example Key Operation Display
2x3 =6 2[x]2(CE]3[=] 6.
(2+4)x6=386 2[+] 4 [+ [%] 6 {=] 6.
12345678 x 100 12345678 [x] 100 [=] E 12.345878
= 1234567800 [oN/C 0.
(-8)+4+75=55 6 [+/-] [+]14[+] 7 [-15[=] 5.5
5x3+8+7=8.875 5[x3[+18[*71=] 8.875
300 x 27% = 81 300 [x] 27 [%] 81.
% X 100% = 20% 11.2 [+] 56 {%) 20.
300+ {300x40% ) =420 | 300 [+] 40 [%] 420.
300- (300 x40% } = 180 300 [] 40 [%) 180.
(12x4)~(20=2)=38 [MRC] [MRC] [ON/C) 0.
12 [x] 4 [M+] M 48,
20 [+] 2 [M~] M 10.
[MRC) M 38.
[MRC] [ON/C] 0.
12x2 =24 12 ] 2 [=] 24.
12x5=60 51=] 860.
3:12=0.25 33122 0.25
6+12=0.5 6 [=} 0.5
J144 =12 144 [] 12.
5= 625 5 X [=][<] [5) 525.
Sx7-86=0125 2x]7 [-16[+]{=] 0.125




